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B
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Xl 300,000 300, 0
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Matoleh & SAA 1,216,870 882, 334,695
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[ia 812,742 842 A 29,488
Hogaes"d 2t 64,425 76,425 A 12,000
MHEAIAER S 2el 64,425 76,425 A 12,000
201 LEt2A | 46,425 57,425 A 11,000
02 2324gl 45,525 56 A 11,000
Ol LM & st Al AE 18,025 28 A 10,000
OJIa2SAAE X2 14,000 15, A 1,000
401 A& HIZ 201 8] 18,000 19, A 1,000
01 A& HI 18,000 19, A 1,000
OMLtord arat s HAAIA 18,000 19, A 1,000
H235t 235t 276,902 246, 30,402
= 8,330 8, 0
< 52,505 11, 40,890
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Moy s X 22,200 25, A 3,000
201 LEt2E | 8,400 9, A 1,500
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OMHAEMEHHH &5 M 8,400 9, A 1,500
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< 415 0
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CHEALD Ol CHE X 113,146 96,900 16,246
< 16,890 0 16,890
s 96,256 96,900 A 644
201 Let2d] 16,890 0 16,890
S 16,890 0 16,890
01 AP 2teltl 16,890 0 16,890
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Qe 2y 192,693 231,193 38,500
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tz sl 624,068 639, 068 A 15,000
SHEIIZE A2 624,068 639,068 A 15,000
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311 X+ 201 Xk &k 2 937 1,000 AB3
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